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IR A DEB RE (a) FH(b) |E#E(a)—(b)|] FTEHILE
(EX-TION 6,095,750]  6,442,000] A 346,250 94.63%
IERE 5,277,000 5,380,000 A 103,000 98.09%
[E=4— | EMEEE 803,750 972,000 A 168,250 82.69%
N 15,000 90,000 A 75,000 16.67%
2 FFEINA 4503,750] 5,020,000] A 516,250 89.72%
[H% A - FF02013) 1,014,650 1,750,000 A 735,350 57.98%
iR [H% A - FF02012) 691,420 390,000 301,420 177.29%
= | [E=AT R Ty Iy 0 400,000 A 400,000
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R - PAEE - T 553,000 600,000 A 47,000 92.17%
ABHEEES B — 23,000 100,000 A 77,000 23.00%
B —E R FAEZGE 2,020,000 1,500,000 520,000 134.67%
ZOMOFFEILA 0 0 0
3 HEEIA 977,380] 1,100,000] A 122,620 88.85%
— WA A 712,080 800,000 A 87,920 89.01%
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4  BhREIRA 0 500,000] A 500,000 0.00%
5 HIXA 1,519 30,000 A 28,481 5.06%
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AR 12,000 40,000 A 28,000 30.00%
B 51,520 150,000 A 98,480 34.35%
LR 50,420 0 50,420
2 EHE 8,265,630 8,940,000 A 674,370 92.46%
Fokk F24 4,867,808 4,900,000 A 32,192 99.34%
fife PR 2 6 4 156,000 250,000 A 94,000 62.40%
ikt A m ity 501,090 700,000 A 198,910 71.58%
=it 0 0 0
EESENA 97,991 120,000 A 22,009 81.66%
=t 20,000 20,000 0 100.00%
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VA T2 i 2 8,640 90,000 A 81,360 9.60%
TR B 123,093 200,000 A 76,907 61.55%
HEoR) — A 204,120 210,000 A 5,880 97.20%
] - BUAE 266,431 350,000 A 83,569 76.12%
SeEUKEHE 153,814 200,000 A 16,186 76.91%
SR 1,469,040 1,470,000 A 960 99.93Y%
FBLAGR 4,000 0 4,000
[ 0 0 0
Mg 0 10,000 A 10,000 0.00%
3 FliEE 10,000 50,000] A 40,000 20.00%
L EE % N5 al (C) 11,401,557 12,980,000] A 1,578,443]  87.84%
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RE b1 =
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